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大学英语B试卷
第一部分：英语知识运用（共10小题；每小题2分，满分20分）

此部分共有10个未完成的对话，针对每个对话中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项并，用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

1. Hello. I’d like to book a taxi to Pudong Airport for tomorrow morning.

                   .
A. When exactly?   B. What exactly?   C. Why exactly?  D. How exactly?

2. Is there anywhere you’d like to go this summer vacation?

                    .
A. Nowhere in particular.    B. Nobody in particular.

C. Nothing in particular.     D. Noway in particular.

3. How was your vacation?

                     .
A. You name it.   B. My pleasure.   C. I had a great time.  D. You’re welcome.

4. How often do you listen to English broadcasts?

                   .
A. Quite often.   B. Quite few.    C. Quite long.   D. quite short.

5. Can you change some money for me, please.

                       .
A. Me?   B. Thank you.   C. No.   D. Certainly.

6. I’d like to open an account.

                    .
A. Deposit or current?    B. Deposit and current.   C. Either will do.

D. Neither will do.

7. I hear putting an ad in a newspaper costs a lot of money.

                       .
A. It is.    B. Is it?   C. It counts.   D. It depends.

8. Shall we make another port of coffee?

                  .
A. Why?   B. Why not?   C. How?   D. What?    

9．I’m sorry to trouble you.

   ___________.

A. You’re welcome.   B. You can’t say that.   C. With pleasure.

D. Not at all.

10. Help yourself to some meat.

___________.

A. I don’t like meat.    B. I’ll eat as much as possible.

C. The meat is not delicious.   D. No, thanks. I’ve had enough.

第二部分：阅读理解 （共20小题；每小题2分，满分40分）
此部分共有4篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

Passage 1

Aging is the process of growing old．It occurs eventually in every living thing provided，of

course．that an illness or accident does not kill it prematurely．The most familiar outward signs of

aging may be seen in old people，such as the greying of the hair and the wrinkling of the skin．Signs of aging in a pet dog or cat include loss of playfulness and energy，a decline in hearing and eyesight，or even a slight greying of the coat．Plants age too，but the signs are much harder to

detect．

    Most body parts grow bigger and stronger，and function more efficiently during childhood．

They reach their peak at the time of maturity，or early adulthood．After that，they begin to decline．Bones，for example，gradually become lighter and more brittle．In the aged，the joints between the bones also become rigid and more inflexible．This can make moving very painful．

   All the major organs of the body show signs of aging．The brain，for example，works less efficiently，and even gets smaller in size．Thinking processes of all sorts are slowed down．Old people often have trouble in remembering recent events．

    One of the most serious changes of old age occurs in the arteries，the blood vessels that lead

from the heart．They become thickened and constricted，allowing less blood to flow to the rest of

the body．This condition accounts，directly or indirectly，for many of the diseases of the aged．It

may，for example，result in heart attack．

   Aging is not a uniform process．Different parts of the body wear out at different rates．There

are great differences among people in their rate of aging．Even the ceils of the body differ in the

way they age．The majority of cells are capable of reproducing themselves many times during the

course of a lifetime．Nerve cells and muscle fibres can never be replaced once they wear out．

    Gerontologists———scientists who study the process of aging——believe the wearing out of the body is controlled by a built-in biological time-clock．They are trying to discover how this clock works so that they can slow down the process．This could give man a longer life and a great number of productive years．

11．What is the main idea in the first paragraph?

  A．Signs of aging are easier to detect in animals than in plants．

B．Aging occurs in every living thing after it has reached maturity

  C. The outward signs of aging may be seen in old people．

  D. Not all signs of aging are visible．

12．When the brain begins to age        .
 A．eyesight will begin to decline too    B．it becomes lighter

  C．the thinking processes go on just as before

  D．memorization declines

13．“The arteries”refers to      .   

A．the paths along which blood flows to all parts of the body

B．the tubes carrying blood back to the heart

C．vessels that are thickened and constricted

D．such heart diseases as suffered by old people

14．Many of the diseases of old people are the result of          .
  A．1ack of blood                     B．low blood pressure

  C．the thickening of the blood vessels    D．poor blood circulation

15．“Aging is not a uniform process” means that            .
    A．old people do not have the same outward signs of aging

    B．not all people age at the same age

    C．the process of aging is slow

    D．nerve cells and muscle fibres do not age simultaneously

Passage 2

   One evening Mr. Green was driving in his car along a lonely country road．He had been to

London where he had drawn￡50(from the bank，and he was now returning home with the money which he had put in his pocket book．At the loneliest part of the road a man in shabby, badly fitting clothes stopped him and asked for a lift．Mr. Green told him to get into the car and continued on his way．As he talked to the man he learned that he had been in prison for robbery and had broken out of prison two days ago．Mr. Green was very worried at the thought of the￡50 that he had put in his pocket book．Suddenly he saw a police—car and had a bright idea．He had just reached a small town where the speed limit was 30 miles an hour．He pressed down the accelerator and drove the car as fast as it would go．He looked back and saw that the police—car had seen him and had begun to chase him．After a mile or so the police-car overtook him and ordered him to stop．A policeman got out and came to Mr. Green’s car．Mr. Green had hoped that he could tell the policeman about the escaped robber，but the man had taken a gun out of his pocket and had put it to Mr. Green’s back．The policeman took out his notebook and pencil and said he wanted Mr. Green’s name and address．Mr. Green asked to be taken to the police station but the policeman said, “No, I want your name and address now. You will have to appear at the police court later.” So，Mr. Green gave the policeman his name and address．The policeman wrote it down, put his notebook and pencil back in his pocket and gave Mr. Green a talk about dangerous driving. Then Mr. Green started up his car again and drove on．He had given up all hope of his￡50，but just as he reached the outskirts of London，the passenger said he wanted to get out there．Mr. Green stopped the car，the man got out and said，“Thanks for the lift．You’ve been

good to me. This is least I can do in return.” And he handed Mr. Green the policeman’s notebook While the policeman had talked to Mr. Green，the thief had stolen the notebook.

16. What was Mr. Green's purpose of visiting London?

    A. To draw some money from the bank.

    B. To buy a pocket book.

    C. To see a friend of his.

    D. Not mentioned in the passage.

17. Why did a man in shabby, badly-fitting clothes stop him?

    A. He said Mr. Green had driven too fast.

    B. He wanted Mr. Green to take him in his car to some place.

    C. Someone was chasing him and he wanted to hide himself in the car.

    D. He knew Mr. Green had some money with him.

18. What was Mr. Green worried about when he learned the man was an escaped robber?

    A. The £50 in his pocket book.

    B. His life.

    C. His car.

    D. His pocket book.

19. The policeman          .
    a. asked why Mr. Green was driving so fast

    b. took a gun out of his pocket and put it to the robber's back

    c. gave Mr. Green a ticket for dangerous driving

    d. wanted Mr. Green's name and address, asking him to appear at the police court later

20. Which of the following is true?

    A. Mr. Green wanted to be taken to the police station right away but the policeman 
refused him.

    B. The policeman asked Mr. Green to come to the police station right away.

    C. The policeman told Mr. Green that he would have to pay a fine.

    D. Mr. Green would not give his name and address but promised to appear at the police 
court later.

Passage 3

Hyperinflation (极度通货膨胀)is defined as an economic condition during which there is a steep increase in prices．In accordance with the laws of economics，three factors combine to create this condition．First．demand must be much greater than the supply of available goods．Second，the country must continuously create and thereby build up an ever—in—creasing supply of money．Third．the governmental processes that are used to collect taxes must be crippled．Let’s  imagine a country where production is barely accomplishing its goal：to keep up with demand. When this happens．the government should decrease the salaries of the workers by raising taxes．But the government is powerless to collect the taxes，so it prints more money to  compensate for(补偿)the goods it must purchase．’This new money goes to the workers who produced the goods：as a result．the people are not forced to give up certain things for a while----they actually become richer．While this might appear to be a positive step．it is actually regressive．Every month the government is forced to print more and more money，thereby increasing its liabilities(债务)until it is destroyed．The only way to prevent total economic collapse in such a situation is for the government to increase taxes in a manner that is characterized by impartiality to everyone involved.

21．Which of the following might occur during hyperinflation?

  A．A slight increase in prices．    B．Rapid growth of economy．

  C．Decrease of workers’ salaries． D．Soaring prices．

22．The author states that during hyperinflation       ．

    A．goods appear to be overabundant   

B. the country has to supply more money

C. government may become richer by collecting more taxes

D. people are forced to give up certain things

23．The passage implies that      .
A.．Hyperinflation is just a passing phase in the economic development

B．People could benefit a lot from hyperinflation  

C．Hyperinflation is used by a government to Raise taxes.   

D. Hyperinflation may cause the downfall of a government.

24．The word “regressive” probably means     .
  A．harmful      B．negative  C．going back    D. progressive

25．In this passage the author centers on      .    
   A．the causes of hyperinflation  

B. the dangers that hyperinflation brings to a country

C. the relationship between taxes and hyperinflation   

D. the supply of money and hyperinflation
Passage 4

Culture shock is an occupational disease for people who have been suddenly transplanted abroad. Like most illnesses, it has its own symptoms and cure. 
    Culture shock is caused by the anxiety that results from losing all familiar signs and symbols of social intercourse. Those signs include the thousand and one ways in which we orient ourselves to the situation of daily life: when to shake hands and what to say when we meet people, when and how to give tips, how to make purchases, when to accept and refuse invitations, when to make statements seriously and when not. These signs, which may be words, gestures, facial expressions, or customs, are acquired by all of us in the course of growing up and as much a part of our culture as the language we speak or beliefs we accept. All of us depend for our peace of mind and our efficiency on hundreds of these signs, most of which we do not carry on the level of conscious awareness. 
    Now when an individual enters a strange culture, all or most of these familiar signs are removed. No matter how broad-minded or full-of-good you may be, a series of supports have been knocked from under you, followed by a feeling of frustration in much the same way. First they reject the environment which causes discomfort. "The ways of the host country are bad because they make us feel bad. " When foreigners in a strange land get together to complain about the host country and its people, you can be sure that they are suffering from culture shock. 
    Another phase of culture shock is regression. The home environment suddenly assumes a tremendous importance. To the foreigner, everything becomes unreasonably glorified. All the difficulties and problems are forgotten and only the good things back home are remembered. It usually takes a trip home to bring one back to reality. 
    26. Culture shock is called an occupational disease mainly because _____. 
       A) like all other disease it has its own symptoms and cure
       B) only those who engage in culture work suffer from it
       C) it is hard to get rid of
       D) only those live in a strange culture may experience it

    27. When people are transplanted abroad, _____. 
       A) they soon adapt themselves to the new culture environment
       B) they try to avoid culture shock
       C) they feel lost in strange surroundings
       D) they become seriously ill

    28. What do people suffering from culture shock usually do?
       A) They tend to take delight in gossiping. 
       B) They tend to beautify their home culture. 
       C) They tend to daydream. 
       D) They tend to complain about physical discomforts. 
    29. From the context we can guess the word "regression" in the last paragraph means ___. 
       A) aggression    B) sentiment      C) regret       D) reversion

    30. The main idea of this passage is that _____. 
       A) culture shock is an occupational disease
       B) culture shock is caused by the anxiety of leaving a language culture
       C) culture shock has peculiar symptoms
       D) it is very hard to cope with life in a new setting


第三部分：词汇和结构 （共25小题；每小题1分，满分25分）
第一节：此小节共有15个未完成的句子，针对每个句子中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕
31．Most of the motorway network in that region is in     need of repair．

A．mere    B．tense    C．urgent      D．rare

32．The moment I opened the door, I had an     that something was wrong．

A．infection    B．intuition  C．intention  D．inspiration

33．He wanted to be left alone to       his business．

A．go about    B．go by    C．go ahead   D．go off

34．He was awarded the first prize and he      it．

A．tried    B．deserved    C．planned   D．flung

35．The concert will be broadcast        on Radio Three at 8 p.m. next Monday．

A．alive    B．1iving     C．1ife       D．1ive

36．Though the electric car is technically     ，it will not be very profitable．

A．portable    B．inaudible  C．feasible  D．advisable

37．Jobless for a whole month．he had not yet      what he was going to do.

A．figured out    B．focused on   C．drawn out  D．cut into

38.The big house was       three years ago and is now in perfect condition．

A．innovated    B．recommended   C．renovated  D．reduced

39.        he only wanted to take some photographs，it seemed rude to send him

away·

A．Giving that    B．To be given that

C．Given that     D．To give that

40．      most of the housework done，Mrs. Smith decided to have a rest．

A．With    B．For      C．On       D．By

41．“What's wrong with you。Susan? You look pale．” 
“Nothing serious．      I’m feeling a little dizzy．”

A．Since that    B．Just that    C．As that    D．So that

42．Don’t worry．Didn't Peter promise that he would     everything?

A．see off    B．look at  C．look for    D．see to

43．It won't be long       everyone comes to realize the danger of air pollution．

A．before    B．after    C．until       D．when

44．The Japanese cook and dine in much the same way        we Chinese do．

A．1ike      B．that    C．just        D．than

45．The reason       more street lights are being fixed is that people feel safer in well—lit streets．

A．that    B．which    C．why        D．when

第二节：此小节的短文中共有10个空白处，针对每个空白处有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

On Monday afternoon Mrs. Joan, dressed for going out, took her handbag with her money

and her key in   46, pulled the door   47   her to lock it and went to the Over 60s Club. She

always went there   48  . It was a nice outing for an old woman who lived   49   

    At six o'clock she came home, let   50   in and at once   51   cigarette smoke. Cigarette

smoke in her house? How? How? Had someone got in? She   52  the back door and the windows. All were   53   or fastened,   54   usual. There was no   55   of forced entry.

     46. A. it             B. its                C. her            D. hers         

     47. A. in front of      B. beside            C. behind          D. before

     48. A. Monday        B. on Monday       C. Mondays        D. on Mondays

     49. A. single          B. lonely            C. alone            D. only

     50. A. she            B. her                C. hers             D. herself

     51. A. smell           B. smelling           C. smelled          D. smelt

     52. A. notice          B. saw               C. checked         D. looked through

     53. A. locking         B. locked            C. closing          D. closed

     54. A. like           B. look like          C. as               D. the same as

     55. A. sight          B. sign               C. scene            D. signs    
第四部分：写作 （满分15分）
要求你在30分钟内， 根据下面所给的题目用英语写出一篇不少于80词的短文。

My Dream
参考答案

Part one

1~5 ACCAD 6~10 ADBDD

Part two

11~15 BDACB 16~20 ABADA 21~25 DBDCA 26~30 DCBDB
Part three

31~35 CBABD 36~40 CACCA 41~45 BDABC

46~50 ACDCD 51~55 DCBCB

Part four （略）
